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PHILOSOPHY — GENERAL
Paper : SEC-A-1 and SEC-A-2
Candidates are required to give their answers in their own words
as far as practicable.
Paper : SEC-A-1
(Logical Reasoning and Application : Indian and Western)

Full Marks : 80
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[ English Version ]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1%10

(a) The ordinary operative relation (laukika sannikarsa) for the perception of the redness of a
red-coloured rhododendron, is—

(1) samyoga (i) samyukta-samaviya
(i) samyukta-samaveta-samavaya (iv) samavaya.
(b) What is the operative relation (sannikarsa) for the perception of absence?
@) samyoga (i) samyukta-samaveta-samavaya
(i) samyukta-samavaya (iv) vifesya-vifesana-bhava.
(¢) The loci in which the sadhya is not known, is
() vipaksa (i) paksa
(i) sapaksa (iv) hetu.

(d) According to modem Naiyayika, the probans (hetu) is of

(1) four types (i) two types
(i) five types (iv) three types.
(e) “The sky flower is beautiful, because, it is a flower.”— The hetu of this inference is vitiated by the
fallacy of—
() asravisiddha (i) svarapasiddha
(i) vyvapyatvasiddha (iv) viruddha.
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(f) “Hetu must also be absent in every instance where the sadhya is absent.”— This characteristic of
hetu is known as
() paksasattva (i) sapaksasattva
(i) vipaksasattva (iv) vipaksasattva.
(g) The conclusion of an analogical argument is a
(i) universal proposition (i) particular proposition
(iii) analytic proposition (iv) self-contradictory proposition.
(h) Scientific explanations are—
(i) certainly true (i) certainly false
(ii) probable (iv) None of these.
() An appellate court must and the rules of law.
(1) apply, identify (i) identify, apply
(iii) apply, criticize (iv) identify, criticize.
() “The queen believes that the professors are fools. Thereforé, the professors are fools.”
— Identify the fallacy in the above-mentioned argument.
() The argument from Ignorance (i) The Appeal to Pity
(iii) The Appeal to Emotion (iv) The Appeal to Inappropriate Authority.
(k) “Both human beings and plants have their growth. Therefore, plants are also rational like human
beings.”— The given argument is an example of
(i) good Analogy (ii) bad Analogy
(iii) scientific Induction (iv) unscientific Induction.
(I) The first stage of a legal inquiry is—
(i) devising the preliminary hypotheses (i) formulating the explanatory hypothesis
(i) collecting additional facts (iv) identifying the problem.
2. Answer in brief (any five) : 5x5
(a) Distinguish between kevalanvayi and kevala-vyatireki anumiti with suitable example.
(b) What is samyukta samavaya and samyukta samaveta samavaya sannikarsa? Discuss with
examples.
(¢) Explain the badhita hervabhasa with a suitable example.
{d) Explain the definitions of paksa, sapaksa and vipaksa with suitable examples.

(e)

Distinguish between ‘the act of commission’ and ‘the act of ommission” with examples.
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What do you mean by ‘remote cause’ and ‘proximate cause’ in the context of legal argument?
What is meant by ‘standard of proof’? — Discuss.

Describe, in brief, the method of inquiry as used in the legal process.

3. Answer any three questions :

(2)

(b)

()

(d)

(e)

Distinguish between svarthanumiti and pararthanumiti. Explain the nature and function of each
avayava pardrthanumiti. 5+10
Give an example of any inference and identify its paksa, sadhya and hetu. Describe the
functions of each of them in the context of that inference. Mention the five characteristics
of a valid anvaya-vyatireki hetu. 2+2+6+5

Distinguish between good analogy and bad analogy. Discuss, in detail, the criteria for
appraising analogical arguments. 5+10

When can an argument be called fallacious? What do you mean by the fallacy of weak

induction? Explain any three types of fallacy of weak induction with suitable examples.
3+3+9

What is an explanation? How many types of explanations are there and what are these?
Discuss the three criteria for judging the merit of scientific explanations. 3+3+9
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